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Are you smarter than a 5% grader? :
Ex. What two numbers add to be 5 but when multiplied your answer is 6?
Ans: 2and 3 because2+3 =5and2(3) = 6

1) What two numbers add to be 2 but when muitiplied your answer is 1?

l+l=2 W)=

2) What two numbers add to be 8 but when multiplied your answer is 15?
r2=92 2(3)=\%

3) What two numbers add to be 14 but when multiplied your answer is 48?

G+ =1 GC(&Y=49

Y
4) What two numbers add to be —4 but when multiplied your answer is 4? (Y'\\/‘S’\’ (__j v

e
@)=y, XA *0:\1’«3 ¢

5) What two numbers add to be —6 but when multiplied your answer is ~7?

TTel= “-1) =0
6) What two humbers add to be 2 but when multiplied your answer is —8?
-24+4 =2 -2(4)= -8
7) What two numbers add to be 9 but when multiplied your answer is —52? N
Oyt ol )
Be-H)=q 13(-H)=-22 PODANE o 12C
8) What two numbers add to be 0 but when multiplied your answer is —9?
T243=0 "3(3)--9
— 03 . . — 7 - o
9) What two numbers add to be —5 but when multiplied your answer is —6? e 7 I eer # VS
A (-G =~ () lo/c srum
10) What two numbers add to be 20 but when multiplied your answer is —44? 1S Lw)

T2 22=20 -2(22)= -+

**Key Idea:
* When your product is negative, your addition has the sign of the __Oy qqr_lf number.

» Ifyour product is positive but your addition is negative, both numbers must be hCﬂ}C\\*WC.



Factoring Trinomials into the Product of Binomials
* A quadratic trinomial is in the form ax? + bx + c.

 quadratic means Y\\C)Y\C‘M exoonTey 19 2 trinomialmeans & oS

* When a = 1, we can factor by reverse FOIL, reverse box method, or reverse rockets.

L_> lCOCl\r\Cj CocFcient

Reverse FOIL/Rockets Reverse Box Method
x2 +11x + 24 x2 +10x + 16
(8x+2X
X2 + DX+ TA +24 X 2
F 0 | L
x2 , }
We need to find the like terms. X i 2X /
What 2 numbers will multiply to 24 and add to 11? ’ %
8¢ 3= 8 -3=24 p 81(/ 16

So what are the binomials whose product is the
trinomial?

(x+g) { % +2)

Check by FOleg or shooting rockets.
(x + EPL X 43 )

2&*5¥+8x v 24

We need to find the like terms.
What 2 numbers will multiply to 16 and add to 10?

<82_—(§,)) 8.2 !O>
6 +2 =10
=10

So whatare the blnomlals whose product is the
trinomial? Make sure they fit your box.

(x +2( %+ ])

) 0 \po, make 2
Ex. x%+x-—6 Ex. —9x+20
X2 - 2% +3x -G x2 - m - gy + 20
ogx ) (x- 0 %2 4)
= —
- 80 0
You Try —2x—80 U022 DOl yoy Try —7x+10 (0
1O B a0 x‘ _,_2_'_ e
(X "(O)(X*i‘8> 2, | ll?_\
K| X ’7—“1 25
5% 1o | need both
9 Ve
(X g)( x’*« -_2“ ‘h’:]



